

Welcome eduncan@ppines.com | Logout

Need assistance? Contact us

Home Search Source Contracts Tools

<u>View by Line Item</u> | **View by Supplier**

Email Tabulation | Generate PDF | View Printable

Bid #PSUT-21-03 - Water Meter Installation Project

Creation Date | Apr 13, 2021 | End Date | Jun 1, 2021 2:00:00 PM EDT

Start Date Apr 15, 2021 4:57:07 PM EDT Awarded Date Not Yet Awarded

	ons, LLC		\$2,884,842.97	(16/16 items
Bid Contact Audra	Shaw Address 9240 NW 63rd	Street		
<u>asha</u>	<u>v@rtswater.com</u> Unit 6			
Ph 81	5-880-6600 Parkville, MO	64152		
Agency Notes:		Supplier Notes:		
Item#	Line Item	Unit Price	Qty/Unit	Total Price
PSUT-21-0301-01	A) Base Bid:: Installation of Owner Furnished Meters - First Offer	\$37.64	16272 / each	\$612,478.08
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0301-02	A) Base Bid:: Furnish Single Meter Box (choose one from Specifications) - First Offer	\$65.28	6509 / each	\$424,907.52
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
PSUT-21-0301-03	A) Base Bid:: Install Single Meter Box (at the same time as the meter) - First Offer	\$38.64	6509 / each	\$251,507.76
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0301-04	A) Base Bid:: Furnish Double Meter Box (choose one from Specifications) - First Offer	\$109.72	3254 / each	\$357,028.88
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0301-05	A) Base Bid:: Install Double Meter Box (at the same time as the meters) - First Offer	\$81.59	3254 / each	\$265,493.86
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0301-06	A) Base Bid:: Furnish Dual Check Valve (Watts DuC or equal) - First Offer	\$31.11	16272 / each	\$506,221.92
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0301-07	A) Base Bid:: Dual Check Valve Installation (at the same time as meter) - First Offer	\$28.63	16272 / each	\$465,867.36
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
			Lot Tot	al: \$2,883,505.38
Item#	Line Item	Unit Price	Qty/Unit	Total Price
DCLIT 24 02 02 04			Q ty/ Oillt	I ULAI FIILE
PSUT-21-0302-01	B) Unit Price Schedule:: Replace angle stop - First Offer	\$210.00	1 / each	\$210.00
Product Code: Agency Notes:		\$210.00 Supplier Product Supplier Notes:	1 / each	
Product Code:		Supplier Product	1 / each	
Product Code: Agency Notes:	B) Unit Price Schedule:: Repair or line break - First Offer	Supplier Product Supplier Notes:	1 / each Code: 1 / each	\$210.00
Product Code: Agency Notes: PSUT-21-0302-02 Product Code:	B) Unit Price Schedule:: Repair or line break - First Offer	Supplier Product Supplier Notes: \$90.55 Supplier Product	1 / each Code: 1 / each	\$210.00
Product Code: Agency Notes: PSUT-21-0302-02 Product Code: Agency Notes:	B) Unit Price Schedule:: Repair or line break - First Offer B) Unit Price Schedule:: Service Line Extension (relocate sidewalk meters to back of walk) - First Offer	Supplier Product Supplier Notes: \$90.55 Supplier Product Supplier Notes:	1/each Code: 1/each Code:	\$210.00 \$90.55
Product Code: Agency Notes: PSUT-21-0302-02 Product Code: Agency Notes: PSUT-21-0302-03 Product Code:	B) Unit Price Schedule:: Repair or line break - First Offer B) Unit Price Schedule:: Service Line Extension (relocate sidewalk meters to back of walk) - First Offer	Supplier Product Supplier Notes: \$90.55 Supplier Product Supplier Notes: \$138.96 Supplier Product	1/each Code: 1/each Code:	\$210.00 \$90.55
Product Code: Agency Notes: PSUT-21-03-02-02 Product Code: Agency Notes: PSUT-21-0302-03 Product Code: Agency Notes: PSUT-21-0302-04 Product Code:	B) Unit Price Schedule:: Repair or line break - First Offer B) Unit Price Schedule:: Service Line Extension (relocate sidewalk meters to back of walk) - First Offer B) Unit Price Schedule:: Sidewalk Replacement (5'x4', 4" thick) - First Offer	Supplier Product Supplier Notes: \$90.55 Supplier Product Supplier Notes: \$138.96 Supplier Product Supplier Notes:	1/each Code: 1/each 1/each Code: 1/each 1/each	\$210.00 \$90.55 \$138.96
Product Code: Agency Notes: PSUT-21-03-02-02 Product Code: Agency Notes: PSUT-21-03-02-03 Product Code: Agency Notes:	B) Unit Price Schedule:: Repair or line break - First Offer B) Unit Price Schedule:: Service Line Extension (relocate sidewalk meters to back of walk) - First Offer B) Unit Price Schedule:: Sidewalk Replacement (5'x4', 4" thick) - First Offer	Supplier Product Supplier Notes: \$90.55 Supplier Product Supplier Notes: \$138.96 Supplier Product Supplier Notes: \$462.86 Supplier Product	1/each Code: 1/each 1/each Code: 1/each 1/each	\$210.00 \$90.55 \$138.96
Product Code: Agency Notes: PSUT-21-03-02-02 Product Code: Agency Notes: PSUT-21-0302-03 Product Code: Agency Notes: PSUT-21-0302-04 Product Code: Agency Notes: PSUT-21-0302-05 Product Code: PSUT-21-0302-05 Product Code:	B) Unit Price Schedule:: Repair or line break - First Offer B) Unit Price Schedule:: Service Line Extension (relocate sidewalk meters to back of walk) - First Offer B) Unit Price Schedule:: Sidewalk Replacement (5'x4', 4" thick) - First Offer B) Unit Price Schedule:: Furnish Antenna Booster - First Offer	Supplier Product Supplier Notes: \$90.55 Supplier Product Supplier Notes: \$138.96 Supplier Product Supplier Notes: \$462.86 Supplier Product Supplier Notes: \$47.78 Supplier Product	1/each Code: 1/each 1/each Code: 1/each Code: 1/each 1/each	\$210.00 \$90.55 \$138.96 \$462.86
Product Code: Agency Notes: PSUT-21-0302-02 Product Code: Agency Notes: PSUT-21-0302-03 Product Code: Agency Notes: PSUT-21-0302-04 Product Code: Agency Notes: PSUT-21-0302-05 Product Code: Agency Notes:	B) Unit Price Schedule:: Repair or line break - First Offer B) Unit Price Schedule:: Service Line Extension (relocate sidewalk meters to back of walk) - First Offer B) Unit Price Schedule:: Sidewalk Replacement (5'x4', 4" thick) - First Offer B) Unit Price Schedule:: Furnish Antenna Booster - First Offer	Supplier Product Supplier Notes: \$90.55 Supplier Product Supplier Notes: \$138.96 Supplier Product Supplier Notes: \$462.86 Supplier Product Supplier Notes: \$17.78 Supplier Product Supplier Notes:	1/each Code: 1/each Code: 1/each Code: 1/each Code: 1/each Code:	\$210.00 \$90.55 \$138.96 \$462.86
Product Code: Agency Notes: PSUT-21-0302-02 Product Code: Agency Notes: PSUT-21-0302-03 Product Code: Agency Notes: PSUT-21-0302-04 Product Code: Agency Notes: PSUT-21-0302-05 Product Code: Agency Notes: PSUT-21-0302-05 Product Code: Agency Notes: PSUT-21-0302-06 Product Code:	B) Unit Price Schedule:: Repair or line break - First Offer B) Unit Price Schedule:: Service Line Extension (relocate sidewalk meters to back of walk) - First Offer B) Unit Price Schedule:: Sidewalk Replacement (5'x4', 4" thick) - First Offer B) Unit Price Schedule:: Furnish Antenna Booster - First Offer B) Unit Price Schedule:: Furnish Antenna Booster - First Offer	Supplier Product Supplier Notes: \$90.55 Supplier Product Supplier Notes: \$138.96 Supplier Product Supplier Product Supplier Notes: \$462.86 Supplier Product Supplier Product Supplier Product Supplier Notes: \$17.78 Supplier Product	1/each Code: 1/each 1/each Code: 1/each Code: 1/each Code: 1/each 1/each 1/each 1/each	\$210.00 \$90.55 \$138.96 \$462.86
Product Code: Agency Notes: PSUT-21-0302-02 Product Code: Agency Notes: PSUT-21-0302-03 Product Code: Agency Notes: PSUT-21-0302-04 Product Code: Agency Notes: PSUT-21-0302-05 Product Code: Agency Notes: PSUT-21-0302-05 Product Code: Agency Notes: PSUT-21-0302-06 Product Code: Agency Notes:	B) Unit Price Schedule:: Repair or line break - First Offer B) Unit Price Schedule:: Service Line Extension (relocate sidewalk meters to back of walk) - First Offer B) Unit Price Schedule:: Sidewalk Replacement (5'x4', 4" thick) - First Offer B) Unit Price Schedule:: Furnish Antenna Booster - First Offer B) Unit Price Schedule:: Furnish Antenna Booster - First Offer	Supplier Product Supplier Notes: \$90.55 Supplier Product Supplier Notes: \$138.96 Supplier Product Supplier Product Supplier Notes: \$462.86 Supplier Product Supplier Product Supplier Notes: \$17.78 Supplier Product Supplier Product Supplier Product Supplier Notes: \$120.83 Supplier Product Supplier Notes:	1/each Code: 1/each Code: 1/each Code: 1/each Code: 1/each Code: 1/each Code:	\$210.00 \$90.55 \$138.96 \$462.86 \$17.78
Product Code: Agency Notes: PSUT-21-0302-02 Product Code: Agency Notes: PSUT-21-0302-03 Product Code: Agency Notes: PSUT-21-0302-04 Product Code: Agency Notes: PSUT-21-0302-05 Product Code: Agency Notes: PSUT-21-0302-06 Product Code: Agency Notes: PSUT-21-0302-07 Product Code: Agency Notes: PSUT-21-0302-07 Product Code: Agency Notes:	B) Unit Price Schedule:: Repair or line break - First Offer B) Unit Price Schedule:: Service Line Extension (relocate sidewalk meters to back of walk) - First Offer B) Unit Price Schedule:: Sidewalk Replacement (5'x4', 4" thick) - First Offer B) Unit Price Schedule:: Furnish Antenna Booster - First Offer B) Unit Price Schedule:: FURNISH SINGLE TRAFFIC BEARING METER BOX AND LID (TIER 15 OR GREATER - First Offer B) Unit Price Schedule:: INSTALL SINGLE TRAFFIC BEARING METER BOX AND LID - First Offer	Supplier Product Supplier Notes: \$90.55 Supplier Product Supplier Notes: \$138.96 Supplier Product Supplier Product Supplier Notes: \$462.86 Supplier Product Supplier Product Supplier Notes: \$17.78 Supplier Product Supplier Product Supplier Product Supplier Notes: \$120.83 Supplier Product Supplier Notes: \$120.83 Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product	1/each Code: 1/each Code: 1/each Code: 1/each Code: 1/each Code: 1/each Code: 1/each Code:	\$210.00 \$90.55 \$138.96 \$462.86 \$17.78
Product Code: Agency Notes: PSUT-21-0302-02 Product Code: Agency Notes: PSUT-21-0302-03 Product Code: Agency Notes: PSUT-21-0302-04 Product Code: Agency Notes: PSUT-21-0302-05 Product Code: Agency Notes: PSUT-21-0302-06 Product Code: Agency Notes: PSUT-21-0302-06 Product Code: Agency Notes: PSUT-21-0302-06 Product Code: Agency Notes: PSUT-21-0302-07	B) Unit Price Schedule:: Repair or line break - First Offer B) Unit Price Schedule:: Service Line Extension (relocate sidewalk meters to back of walk) - First Offer B) Unit Price Schedule:: Sidewalk Replacement (5'x4', 4" thick) - First Offer B) Unit Price Schedule:: Furnish Antenna Booster - First Offer B) Unit Price Schedule:: FURNISH SINGLE TRAFFIC BEARING METER BOX AND LID (TIER 15 OR GREATER - First Offer B) Unit Price Schedule:: INSTALL SINGLE TRAFFIC BEARING METER BOX AND LID - First Offer	Supplier Product Supplier Notes: \$90.55 Supplier Product Supplier Notes: \$138.96 Supplier Product Supplier Product Supplier Notes: \$462.86 Supplier Product Supplier Product Supplier Notes: \$17.78 Supplier Product Supplier Product Supplier Product Supplier Notes: \$120.83 Supplier Product Supplier Notes: \$138.64	1/each Code: 1/each Code: 1/each Code: 1/each Code: 1/each Code: 1/each Code: 1/each Code:	\$210.00 \$90.55 \$138.96 \$462.86

Agency Notes:		Supplier Notes:		
PSUT-21-0302-09	B) Unit Price Schedule:: INSTALL DOUBLE TRAFFIC BEARING METER BOX AND LID - First Offer	\$81.59	1 / each	\$81.59
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
				Lot Total: \$1,337,59

National Metering Services, Inc. \$3,134,890.36 (16/16 items) Bid Contact william castle Address box 491 wcastle@nmsnj.com 163 Schuyler ave kearny, NJ 07032 Ph 201-394-4749 Agency Notes: **Supplier Notes:** Item# Line Item **Unit Price** Qty/Unit **Total Price** PSUT-21-03--01-01 A) Base Bid:: Installation of Owner Furnished Meters - First Offer \$44.00 16272 / each \$715,968.00 Product Code: Supplier Product Code: Agency Notes: **Supplier Notes:** PSUT-21-03--01-02 A) Base Bid:: Furnish Single Meter Box (choose one from Specifications) - First Offer \$94.50 6509 / each \$615,100.50 Product Code: Supplier Product Code: Agency Notes: Supplier Notes: PSUT-21-03--01-03 A) Base Bid:: Install Single Meter Box (at the same time as the meter) - First Offer \$32.00 6509 / each \$208,288.00 **Product Code:** Supplier Product Code: **Agency Notes: Supplier Notes:** PSUT-21-03--01-04 \$119.60 3254 / each \$389,178.40 A) Base Bid:: Furnish Double Meter Box (choose one from Specifications) - First Offer **Product Code:** Supplier Product Code: **Supplier Notes:** Agency Notes: PSUT-21-03--01-05 3254 / each A) Base Bid:: Install Double Meter Box (at the same time as the meters) - First Offer \$42.00 \$136,668,00 Product Code: **Supplier Product Code:** Agency Notes: **Supplier Notes:** PSUT-21-03--01-06 A) Base Bid:: Furnish Dual Check Valve (Watts DuC or equal) - First Offer \$45.68 16272 / each \$743,304,96 Product Code: Supplier Product Code: Agency Notes: **Supplier Notes:** A) Base Bid:: Dual Check Valve Installation (at the same time as meter) - First Offer 16272 / each \$325,440.00 PSUT-21-03--01-07 \$20.00 Supplier Product Code: Product Code: Agency Notes: **Supplier Notes:** Lot Total: \$3,133,947.86 Item# Line Item **Unit Price** Qty/Unit **Total Price** \$135.00 \$135.00 PSUT-21-03--02-01 B) Unit Price Schedule:: Replace angle stop - First Offer 1 / each Supplier Product Code: Product Code: Agency Notes: **Supplier Notes:** PSUT-21-03--02-02 B) Unit Price Schedule:: Repair or line break - First Offer \$65.00 1 / each \$65.00 **Product Code:** Supplier Product Code: **Supplier Notes:** Agency Notes: PSUT-21-03--02-03 \$74.00 B) Unit Price Schedule:: Service Line Extension (relocate sidewalk meters to back of walk) - First Offer \$74.00 1 / each **Product Code:** Supplier Product Code: **Supplier Notes:** Agency Notes: PSUT-21-03--02-04 B) Unit Price Schedule:: Sidewalk Replacement (5'x4', 4" thick) - First Offer \$65.00 1 / each \$65.00 **Product Code:** Supplier Product Code: Agency Notes: Supplier Notes: PSUT-21-03--02-05 B) Unit Price Schedule:: Furnish Antenna Booster - First Offer \$16.00 1 / each \$16.00 Product Code: **Supplier Product Code: Supplier Notes:** Agency Notes: PSUT-21-03--02-06 B) Unit Price Schedule:: FURNISH SINGLE TRAFFIC BEARING METER BOX AND LID (TIER 15 OR GREATER - First Offer \$172.50 \$172.50 1 / each Product Code: Supplier Product Code: Agency Notes: **Supplier Notes:** PSUT-21-03--02-07 B) Unit Price Schedule:: INSTALL SINGLE TRAFFIC BEARING METER BOX AND LID - First Offer \$60.00 1 / each \$60.00 Supplier Product Code: Product Code: Agency Notes: **Supplier Notes:** PSUT-21-03--02-08 B) Unit Price Schedule:: FURNISH DOUBLE TRAFFIC BEARING METER BOX AND LID - First Offer \$265.00 \$265.00 1 / each Product Code: Supplier Product Code: Agency Notes: Supplier Notes: PSUT-21-03--02-09 B) Unit Price Schedule:: INSTALL DOUBLE TRAFFIC BEARING METER BOX AND LID - First Offer \$90.00 \$90.00 1 / each **Product Code:** Supplier Product Code: Agency Notes: **Supplier Notes:** Lot Total: \$942.50

Bid Contact **Todd Cooper**

Todd@umsimeters.com

UMSI

\$3,595,055.50 (16/16 items)
Address 11417 SW 111 Court Road

Ph 78	6-473-6532			
	le to upload pdf file. Please advise.			
Agency Notes:		Supplier Notes: U	Inable to upload p	df file. Please advise
Item#	Line Item	Unit Price	Qty/Unit	Total Price
PSUT-21-0301-01	A) Base Bid:: Installation of Owner Furnished Meters - First Offer	\$39.60	16272 / each	\$644,371.20
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0301-02	A) Base Bid:: Furnish Single Meter Box (choose one from Specifications) - First Offer	\$76.56	6509 / each	\$498,329.04
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0301-03	A) Base Bid:: Install Single Meter Box (at the same time as the meter) - First Offer	\$60.00	6509 / each	\$390,540.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0301-04	A) Base Bid:: Furnish Double Meter Box (choose one from Specifications) - First Offer	\$93.24	3254 / each	\$303,402.96
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0301-05	A) Base Bid:: Install Double Meter Box (at the same time as the meters) - First Offer	\$60.00	3254 / each	\$195,240.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0301-06	A) Base Bid:: Furnish Dual Check Valve (Watts DuC or equal) - First Offer	\$36.00	16272 / each	\$585,792.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0301-07	A) Base Bid:: Dual Check Valve Installation (at the same time as meter) - First Offer	\$60.00	16272 / each	\$976,320.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
			Lot T	otal: \$3,593,995.20
Item#	Line Item	Unit Price	Qty/Unit	Total Price
PSUT-21-0302-01	B) Unit Price Schedule:: Replace angle stop - First Offer	\$78.00	1 / each	\$78.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0302-02	B) Unit Price Schedule:: Repair or line break - First Offer	\$180.00	1 / each	\$180.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0302-03	B) Unit Price Schedule:: Service Line Extension (relocate sidewalk meters to back of walk) - First Offer	\$300.00	1 / each	\$300.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0302-04	B) Unit Price Schedule:: Sidewalk Replacement (5'x4', 4" thick) - First Offer	\$180.00	1 / each	\$180.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0302-05	B) Unit Price Schedule:: Furnish Antenna Booster - First Offer	\$32.50	1 / each	\$32.50
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0302-06	B) Unit Price Schedule:: FURNISH SINGLE TRAFFIC BEARING METER BOX AND LID (TIER 15 OR GREATER - First Offer	\$76.56	1 / each	\$76.56
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0302-07	B) Unit Price Schedule:: INSTALL SINGLE TRAFFIC BEARING METER BOX AND LID - First Offer	\$60.00	1 / each	\$60.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0302-08	B) Unit Price Schedule:: FURNISH DOUBLE TRAFFIC BEARING METER BOX AND LID - First Offer	\$93.24	1 / each	\$93.24
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0302-09	B) Unit Price Schedule:: INSTALL DOUBLE TRAFFIC BEARING METER BOX AND LID - First Offer	\$60.00	1 / each	\$60.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	

Vanguard Utility	Service, Inc		\$5,402,162	.42 (16/16 items)
Bid Contact Robe	t Bates Address 2651 Park Wir	dsor Dr		
sales@vusinc.com Unit 208				
Ph 27	0-926-4646 Fort Myers, FL	. 33901		
Bid Notes all su	omittals were uploaded with PSUT-21-0301-01 A) Base Bid:: Installation of Owner Furnished Mete	ers		
Agency Notes:		Supplier Notes: a	ll submittals were	uploaded with
		PSUT-21-0301-01 Furnished Meters	A) Base Bid:: Inst	allation of Owner
Item#	Line Item	Unit Price	Qty/Unit	Total Price
PSUT-21-0301-01	A) Base Bid:: Installation of Owner Furnished Meters - First Offer	\$51.75	16272 / each	\$842,076.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	

J, 202 1	Tenscope source. Bit Tabulation Report			
PSUT-21-0301-02	A) Base Bid:: Furnish Single Meter Box (choose one from Specifications) - First Offer	\$93.55	6509 / each	\$608,916.95
Product Code:		Supplier Product		
Agency Notes:		Supplier Notes: B 16x11x12"F" W/AF		'36F-12-AF3MF_DEEF R KNOCKOUT LID
PSUT-21-0301-03	A) Base Bid:: Install Single Meter Box (at the same time as the meter) - First Offer	\$54.50	6509 / each	\$354,740.50
Product Code: Agency Notes:	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Supplier Product Supplier Notes:		100 1/1 10100
PSUT-21-0301-04	A) Base Bid:: Furnish Double Meter Box (choose one from Specifications) - First Offer	\$119.60	3254 / each	\$389,178.40
Product Code: Agency Notes:		Supplier Product Supplier Notes: DFW39F-12-AF3MI MAGNET TR KNOC	F_DEEP 16 x14x12	
PSUT-21-0301-05	A) Base Bid:: Install Double Meter Box (at the same time as the meters) - First Offer	\$85.00	3254 / each	\$276,590.00
Product Code:	, y suse sian instant sousie metal sus (at the sum of an emetal sus in the sum of the su	Supplier Product		4270,030.00
Agency Notes:		Supplier Notes:		
PSUT-21-0301-06 Product Code:	A) Base Bid:: Furnish Dual Check Valve (Watts DuC or equal) - First Offer	\$50.01	16272 / each	\$813,762.72
Agency Notes:		Supplier Product Supplier Notes:	code.	
PSUT-21-0301-07	A) Base Bid:: Dual Check Valve Installation (at the same time as meter) - First Offer	\$130.00	16272 / each	\$2,115,360.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
			Lot	Total: \$5,400,624.57
Item#	Line Item	Unit Price	Qty/Unit	Total Price
PSUT-21-0302-01 Product Code: Agency Notes:	B) Unit Price Schedule:: Replace angle stop - First Offer	\$115.10 Supplier Product Supplier Notes: includes parts	1 / each Code:	\$115.10
PSUT-21-0302-02	B) Unit Price Schedule:: Repair or line break - First Offer	· ·	1 / each	\$85.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0302-03	B) Unit Price Schedule:: Service Line Extension (relocate sidewalk meters to back of walk) - First Offer		1 / each	\$175.00
Product Code:		Supplier Product Supplier Notes:		
Agency Notes: PSUT-21-0302-04	B) Unit Price Schedule:: Sidewalk Replacement (5'x4', 4" thick) - First Offer		1 / each	\$275.00
Product Code: Agency Notes:	, and the second	Supplier Product Supplier Notes:		,_, 5,00
PSUT-21-0302-05	B) Unit Price Schedule:: Furnish Antenna Booster - First Offer	\$18.50	1 / each	\$18.50
Product Code: Agency Notes:		Supplier Product Supplier Notes:		
	B) Unit Price Schedule:: FURNISH SINGLE TRAFFIC BEARING METER BOX AND LID (TIER 15 OR GREATER - First Offer	 	1 / each	\$88.55
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code: gle meter box RM	B111812 NSW-W and
PSUT-21-0302-07	B) Unit Price Schedule:: INSTALL SINGLE TRAFFIC BEARING METER BOX AND LID - First Offer	\$275.00	1 / each	\$275.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0302-08	B) Unit Price Schedule:: FURNISH DOUBLE TRAFFIC BEARING METER BOX AND LID - First Offer	\$130.70	1 / each	\$130.70
Product Code:		Supplier Product	Code:	

Agency Notes:		Supplier Notes: Quoted Sigma Double meter box RMB171814 NSW and NICOR Read-Riteâ, C Polymer Lid,17.0"X18.0"X2.0",No Lock, Black, WATER ,Flat		l-Riteâ,, ¢ Polymer
PSUT-21-0302-09	B) Unit Price Schedule:: INSTALL DOUBLE TRAFFIC BEARING METER BOX AND LID - First Offer	\$375.00	1 / each	\$375.00
Product Code: Agency Notes: Supplier Product Code: Supplier Notes:				
				Lot Total: \$1,537.85

GPE Engineering			\$7,019,815.16	(16/16 items)
Bid Contact Leste	r limenez Address 13117 NW 107	7th Ave	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,
	pgeeng.com hialeah garde			
	5-828-5307	,		
Fax 3	05-828-5325			
Agency Notes:		Supplier Notes:		
Item#	Line Item	Unit Price	Qty/Unit	Total Price
PSUT-21-0301-01	A) Base Bid:: Installation of Owner Furnished Meters - First Offer	\$175.00	16272 / each	\$2,847,600.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0301-02	A) Base Bid:: Furnish Single Meter Box (choose one from Specifications) - First Offer	\$150.00	6509 / each	\$976,350.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0301-03	A) Base Bid:: Install Single Meter Box (at the same time as the meter) - First Offer	\$85.00	6509 / each	\$553,265.00
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
PSUT-21-0301-04	A) Base Bid:: Furnish Double Meter Box (choose one from Specifications) - First Offer	\$200.00	3254 / each	\$650,800.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0301-05	A) Base Bid:: Install Double Meter Box (at the same time as the meters) - First Offer	\$85.00	3254 / each	\$276,590.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0301-06	A) Base Bid:: Furnish Dual Check Valve (Watts DuC or equal) - First Offer	\$70.00	16272 / each	\$1,139,040.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0301-07	A) Base Bid:: Dual Check Valve Installation (at the same time as meter) - First Offer	\$35.00	16272 / each	\$569,520.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
			Lot To	tal: \$7,013,165.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
PSUT-21-0302-01	B) Unit Price Schedule:: Replace angle stop - First Offer	\$200.00	1 / each	\$200.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0302-02	B) Unit Price Schedule:: Repair or line break - First Offer	\$2,500.00	1 / each	\$2,500.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0302-03	B) Unit Price Schedule:: Service Line Extension (relocate sidewalk meters to back of walk) - First Offer	\$2,500.00	1 / each	\$2,500.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0302-04	B) Unit Price Schedule:: Sidewalk Replacement (5'x4', 4" thick) - First Offer	\$150.00	1 / each	\$150.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
PSUT-21-0302-05	B) Unit Price Schedule:: Furnish Antenna Booster - First Offer	\$250.00	1 / each	\$250.00
Product Code:		Supplier Product	Code:	<u> </u>
Agency Notes:		Supplier Notes:		
Product Code:	B) Unit Price Schedule:: FURNISH SINGLE TRAFFIC BEARING METER BOX AND LID (TIER 15 OR GREATER - First Offer	Supplier Product	1 / each Code:	\$275.61
Agency Notes:	DVI lest Deleg Cale adular INICTATI CINICIE TRAFFIC DE ARIMO ANTIER DOVIANO US. FIL 1000	Supplier Notes:	1/224	#200.00
PSUT-21-0302-07	B) Unit Price Schedule:: INSTALL SINGLE TRAFFIC BEARING METER BOX AND LID - First Offer		1 / each	\$200.00
Product Code:		Supplier Product Supplier Notes:	Code:	
Agency Notes:			1 / each	\$374.55
Agency Notes: PSUT-21-0302-08	B) Unit Price Schedule:: FURNISH DOUBLE TRAFFIC BEARING METER BOX AND LID - First Offer			
	B) Unit Price Schedule:: FURNISH DOUBLE TRAFFIC BEARING METER BOX AND LID - First Offer	Supplier Product Supplier Notes:	Code:	
PSUT-21-0302-08 Product Code:	B) Unit Price Schedule:: FURNISH DOUBLE TRAFFIC BEARING METER BOX AND LID - First Offer B) Unit Price Schedule:: INSTALL DOUBLE TRAFFIC BEARING METER BOX AND LID - First Offer	Supplier Product Supplier Notes:	Code:	\$200.00
PSUT-21-0302-08 Product Code: Agency Notes:	•	Supplier Product Supplier Notes:	1 / each	\$200.00

Agency Notes: PSUT-21-03--02-09

Product Code:

Agency Notes:

Southern Cross, Inc \$7,852,042.80 (16/16 items) Bid Contact Robert McArthur Address 12593 Greasy Valley Road robert.mcarthur@southerncrossinc.com Prairie Grove, AR 72753 Ph 501-351-6836 **Supplier Notes:** Agency Notes: Line Item **Unit Price** Qty/Unit **Total Price** Item# PSUT-21-03--01-01 A) Base Bid:: Installation of Owner Furnished Meters - First Offer \$165.63 \$2,695,131.36 16272 / each **Product Code:** Supplier Product Code: Agency Notes: **Supplier Notes:** PSUT-21-03--01-02 \$50.00 6509 / each \$325,450.00 A) Base Bid:: Furnish Single Meter Box (choose one from Specifications) - First Offer Product Code: Supplier Product Code: Agency Notes: **Supplier Notes:** PSUT-21-03--01-03 \$741,179.83 A) Base Bid:: Install Single Meter Box (at the same time as the meter) - First Offer \$113.87 6509 / each Product Code: **Supplier Product Code: Supplier Notes:** Agency Notes: PSUT-21-03--01-04 A) Base Bid:: Furnish Double Meter Box (choose one from Specifications) - First Offer \$85.00 3254 / each \$276,590.00 Product Code: Supplier Product Code: Agency Notes: **Supplier Notes:** PSUT-21-03--01-05 \$555,815.74 A) Base Bid:: Install Double Meter Box (at the same time as the meters) - First Offer \$170.81 3254 / each Product Code: Supplier Product Code: Agency Notes: **Supplier Notes:** PSUT-21-03--01-06 A) Base Bid:: Furnish Dual Check Valve (Watts DuC or equal) - First Offer \$111.00 16272 / each \$1,806,192.00 **Product Code:** Supplier Product Code: Agency Notes: Supplier Notes: PSUT-21-03--01-07 \$89.00 \$1,448,208.00 A) Base Bid:: Dual Check Valve Installation (at the same time as meter) - First Offer 16272 / each Product Code: Supplier Product Code: Agency Notes: **Supplier Notes: Lot Total:** \$7,848,566.93 Line Item **Unit Price** Qty/Unit **Total Price** PSUT-21-03--02-01 B) Unit Price Schedule:: Replace angle stop - First Offer \$318.75 1 / each \$318.75 Product Code: Supplier Product Code: Agency Notes: **Supplier Notes:** \$683.24 PSUT-21-03--02-02 \$683.24 B) Unit Price Schedule:: Repair or line break - First Offer 1 / each Product Code: Supplier Product Code: Agency Notes: Supplier Notes: PSUT-21-03--02-03 B) Unit Price Schedule:: Service Line Extension (relocate sidewalk meters to back of walk) - First Offer \$1,125.00 1 / each \$1,125.00 Product Code: **Supplier Product Code:** Agency Notes: **Supplier Notes:** PSUT-21-03--02-04 B) Unit Price Schedule:: Sidewalk Replacement (5'x4', 4" thick) - First Offer \$920.00 1 / each \$920.00 Supplier Product Code: Product Code: Agency Notes: **Supplier Notes:** B) Unit Price Schedule:: Furnish Antenna Booster - First Offer PSUT-21-03--02-05 \$9.20 1 / each \$9.20 Product Code: Supplier Product Code: Agency Notes: **Supplier Notes:** PSUT-21-03--02-06 B) Unit Price Schedule:: FURNISH SINGLE TRAFFIC BEARING METER BOX AND LID (TIER 15 OR GREATER - First Offer \$50.00 1 / each \$50.00 Product Code: Supplier Product Code: Agency Notes: **Supplier Notes:** PSUT-21-03--02-07 B) Unit Price Schedule:: INSTALL SINGLE TRAFFIC BEARING METER BOX AND LID - First Offer \$113.87 \$113.87 1 / each **Product Code:** Supplier Product Code: Agency Notes: **Supplier Notes:** PSUT-21-03--02-08 B) Unit Price Schedule:: FURNISH DOUBLE TRAFFIC BEARING METER BOX AND LID - First Offer \$85.00 \$85.00 1 / each Product Code: Supplier Product Code:

Close

B) Unit Price Schedule:: INSTALL DOUBLE TRAFFIC BEARING METER BOX AND LID - First Offer

Supplier Notes:

\$170.81

Supplier Product Code: Supplier Notes:

1 / each

\$170.81

Lot Total: \$3,475.87

Questions? Contact a Periscope Source representative: 800-990-9339 or email: source-support@periscopeholdings.com

Home Bid Search Bids Orders Tools Support Privacy Logout

in 💆 f 🛗

Copyright © 2020 - Periscope Holdings, Inc. - All rights reserved.

Vendor Name	Envocore - RTS Water Solutions, LLC	National Metering Services, Inc.	Utility Metering Service & Install	Vanguard Utility Service, Inc.	GPE Engineering & General Contractor Corp.	Southern Cross, LLC.
Contact Information (From Attachment A)	Company Information. 9240 NW 63rd Street Unit 6 Partville, MO 64152 Fac (61) 880-6620 Finany Contact: Brian King - Sales Facculve, Utility Metering Tel. (66) 462-2780 Authorized Approver: Franck Wheeler - Wice President Tel. (713) 504-6684 Veheeler @envoore.com	Company Information: 163 Schuyler Ave Box 491 Rearny, NJ 07032 Tel: (201) 349-5600 Fax: (201) 246-1831 Primary Context: William Context: William (201) 346-4740 wasatie@mrsql.com Authorized Approver: Richard Verdiramo (9) mrsql.com	Company Information: 11417 SW 111 Court Road Marni, Florida 33176 Primary Contact: Todd Cooper - Managing Director Tel. (196) 473-6832 Todd Gumainteles. John Authorized Approver:	Company Information: 1421 West 9th Street Owensboro, KY 42301 Tel: (270) 926-4646 Fax: (270) 926-6933 Primary Contact: Kattly Kolter - SecretaryReg Sales Mngr sales @vasinc.com Authorized Approver: Robert Chelon - CFO behelon@vasinc.com	Company Information: 4730 NW 128n Street Opa Locks, FL 33054 Tel (305) 282-5307 bids 6 geeing com Primary Contact: Antonio Reyes - President Authorized Approver; Lester Jimenez - Vice President	Company Information: 3175 Comes North Court Peachatee Cornes, 6A 30071 Tel: (1919) 798-3701 Fax: (779) 862-5223 Primary Contact: Primary Contact Jody Boyles - VP of Business Development Jody Boyles - VP of Business Development Authorities Approver. Jody Boyles - VP of Business Development robet machine 8 southernoosins com reter through the Southernoosins com
TOTAL BID AMOUNT	\$2,884,842.97	\$3,134,890.36	\$3,595,055.50	\$5,402,162.42	\$7,019,815.16	\$7,852,042.80
PROPOSAL REQUIREMENTS						
- Attachment A: Contact Information Form	Included	Included	Included	Included	Included	Included
- Attachment B: Non-Collusive Affidavit	Included	Included	Included	Included	Included	Included
- Attachment C: Proposer's Background Information	Included	Included	Included	Included	Included	Included
- Attachment F: References Form	Included	Included	Included	Included	Included	Included
- Attachment I: Certification to Hire Local	Included - Vendor WILL Comply Fully	Included - Vendor WILL Comply Fully	Included - Vendor WILL Comply Fully	Included - vendor WILL comply fully	Included - Vendor WILL NOT comply	Included - vendor WILL comply fully
- Listing of Work that is Not Completed or in Default	Included	Included	S/E requesting missing documents	Included	Included - N/A	Included - N/A
- Key Personnel Information	Included	Included	S/E requesting missing documents	Included	Included	Included
- Project Organization Chart	Included	Included	S/E requesting missing documents	Included	Included	Included
- Quality Assurance and Control Program	Included	Included	S/E requesting missing documents	Included	Included	Included
VENDOR REGISTRATION AND QUALIFICATION DOCUMENTS						
- Vendor Information Form	Included	Included	S/E requesting missing documents	Included	Included	Included
- Form W-9 (Rev. October 2018)	Included	Included	S/E requesting missing documents	Included	Included	Included
- Company Profile	Included	Included	S/E requesting missing documents	Included	Included	Included
- Commodity Codes	Included	Included	S/E requesting missing documents	Included	Included	Included
- Sworn Statement on Public Entity Crimes Form	A. Neither the entity nor any officers who are acitve in management nor any affiliate have been charged with a public entity crime.	A. Neither the entity nor any officers who are acitve in management nor any affiliate have been charged with a public entity crime.	S/E requesting missing documents	management nor any affiliate have been charged with a public entity crime.	A. Neither the entity nor any officers who are acitve in management nor any affiliate have been charged with a public entity crime.	management nor any affiliate have been charged with a public entity crime.
- Local Vendor Preference Certification	Included - Not a local vendor	Included - Not a local vendor	S/E requesting missing documents	Included - Not a local vendor	Included - Not a local vendor	Included - Not a local vendor
- Local Business Tax Receipts	N/A	N/A	S/E requesting missing documents	N/A	Included - Miami Dade County - Exp 9/20	N/A
- Veteran Owned Small Business Preference Certification	Included - Does not meet the requirements as a VOSB	Included - Does not meet the requirements as a VOSB	S/E requesting missing documents	Included - Does not meet the requirements as a VOSB	Included - Does not meet the requirements as a VOSB	S/E requesting missing documents
- Equal Benefits Certification Form	Included - currently complies	Included - currently complies	S/E requesting missing documents	Included - currently complies	Included - Vendor will comply at the time of contract award	Included - currently complies
- Vendor Drug-Free Workplace Certification Form	Included - complies fully	Included - complies fully	S/E requesting missing documents	Included - complies fully	Included - complies fully	S/E requesting missing documents
- Scrutinized Company Certification	Included	Included	S/E requesting missing documents	Included	Included	Included
- E-Verify System Certification Statement	Included	Included	S/E requesting missing documents	Included	Included	Included
- Applicable State and Local Licenses	Included	Included	S/E requesting missing documents	Included	Included	S/E requesting missing documents
Bid Security (N/A, Bid Bond, Cashier's Check, Not Submitted)	5% Bid Bond	Not Submitted	Not Submitted	5% Bid Bond	5% Bid Bond	5% Bid Bond
Method of Submittal	BidSync	BidSync	BidSync	BidSync	BidSync	BidSync
Additional Information	Certificate of Liability Insurance State of FL DBPR License Certification regarding lobbying 2021 Foreign Limited Liability Company Annual	Certificate of Incorporation NJ Business Registration Certificate	None	 State of FL DBPR License Certification Regarding Lobbying Disclosure of Lobbying Activities 	Certificate of Liability Insurance State of FL DBPR License	Certification Regarding Lobbying Disclosure of Lobbying Activities
	Report			-2021 Annual Corporation Report - State of FL Corp documents		- Disclosure of Europying Activities
Supplier Notes for Offer	Report	None	Unable to upload pdf file. Please advise.		None	None